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Consider the following statements:

1. The income effect is positive in the case
of normal goods.

2. The income effect is zero in the case of
superior goods.

3. All Giffen Goods are inferior goods, but
not all inferior goods are Giffen goods.

4. The income effect is negative in the case
of inferior goods.

Which of the above is/are correct.
a) 1 only

b) 2 only

c) 3and 4

d) 1,3 and 4

The short-run supply curve of a firm under

perfect competition is the same as the  ?

a) Marginal cost curve

b) Marginal cost curve above the average
variable cost curve

c) The average variable cost curve

d) The average total cost curve

If the price consumption curve of a
commodity is bending backwards, then
what will be the nature of the commodity.
a) Inferior good

b) Normal good

c¢) Superior good

d) Public good

The producer will substitute capital for

labour till he reaches that point of isoquant

at which _ ?

a) The price of the good he produces equal
wage rate

b) Marginal rate of technical substitution
equal interest rate

¢) Marginal rate of technical substitution
equal marginal revenue

d) The marginal rate of technical
substitution equals the ratio of marginal
productivity of labour and capital
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For substitutes goods, what is the value of
cross elasticity of demand?

a) Positive

b) Negative

c) Zero

d) Always less than one

When a firm operates with excess capacity  ?

a) it must be a perfectly competitive firm

b) it must be a monopolistically competitive
firm

c¢) additional production would increase the
average total cost

d) additional production would lower the
average total cost

Assume U(x, y)=4 (x, y)"*+10. What is the
marginal rate of substitution of y for x , when
x=2 and y=4.

a) 2

b) 3

c) Y

d) -2

Which one is not the cause of market failure?
a) Externalities

b) Imperfect market

¢) Indivisibilities

d) Pareto optimality

In case of positive externality social marginal

cost ?

a) exceed private marginal cost

b) be equal to private marginal cost

¢) have no specific relation to private
marginal cost

d) fall short of private marginal cost
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The relationship between money supply and
the price level is proportional. Which
economist introduced this idea?

a) Marshall

b) Fisher

c) Keynes

d) Cantillon

A solution of Walrasian general equilibrium

will exist if and only if ?

a) Condition of fixed point theorem is fixed

b) Pareto's condition of optimality is
satisfied

c) Hick's stability conditions are satisfied

d) The conditions of Pareto's law of
distribution is satisfied

Under the Cournot Model of Duopoly, each
duopolist will produce?

a) Half the output

b) One-fourth of the output

¢) One-sixth of the output

d) One-third of the output

Consider the following publications
1. Relative Income Hypothesis

2. Life Cycle Hypothesis

3. Absolute Income Hypothesis

4. Permanent Income Hypothesis

The correct chronological order of publication
is?

a) 3 1402
b) 2 4 13
c) 1324
d 4 231

Liquidity trap is a situation when the demand
for moneyis __ ?

a) Zero elastic

b) Unit elastic

c) Relatively more elastic

d) Perfectly elastic
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The theory of Square Root formula of
demand for money is associated with__ ?
a) Keynes

b) Baumol

¢) Marshall

d) Pigou

Backward bending supply curve of labour

suggests that _ ?

a) When wage rate increases, supply of
labour declines

b) When wage rate declines, supply of
labour increases

c) There is no relationship between wage
rate and labour supply

d) When wage rate increases, initially labour
supply increases and after some point with
the increase in wage rate, labour supply
decreases

Which of the following studies the

relationship between the country GNP and

unemployment rate?

a) Okun’s Law

b) Aggregate supply curve

c¢) Philips curve

d) The natural rate of unemployment
hypothesis

Arrow’s impossibility theorem implies that
?

a) Any social decision rule should not
violate the requirements of rational choice

b) Any social decision rule must violate at
least one of the requirements of rational
choice

¢) Any social decision rule must violate all
the requirements of rational choice

d) It is impossible to violate social decision
rules
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The correct order of the Schumpeter model of
development is

a) Swarm like clusters, Innovation, Bank

credit, breaking the circular flow

Breaking circular flow, Innovation, Bank

credit, Swarm like clusters

¢) Innovation, Bank credit, Breaking circular
flow, Swarm like clusters

d) Bank credit, Innovation, Swarm like
cluster, breaking the circular flow

b)

Which of the following is the condition/s of
economic viability and technological
feasibility of Leontief's static model?

a) Perron-Frobinius root

b) The value of the objective function of the
primal should equal the value of the
objective function of the dual of the prime

¢) Kuhn-Tucker conditions

d) Hawkins-Simon conditions

In Harrod's growth model, neutral technical
progress implies technical progress as  ?
a) Capital augmenting

b) Labour augmenting

c) Both labour and capital augmenting

d) Productivity increasing

In the Solow Growth Model, the steady-state

level of capital per worker occurs when

a) Output per worker is maximized and

constant.

Consumption per worker is maximized

and constant.

c) The level of investment per worker equals
the amount of capital per worker that
depreciates during a particular time
period.

d) All of the above statements are true for
the steady-state level of capital per worker
in the Solow Growth Model.

b)

Sen's welfare theory relies on

a) individuals' accomplishments
b) individuals' capabilities

¢) individuals' wealth

d) individuals' education
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In the Lewis model, what does the term

"surplus labor" refer to?

a) An amount of labor that is so high that it
deflates wages throughout the economy

b) Labor that does not have at least a
primary level education

¢) Labor that can be withdrawn from the low
productivity agricultural sector without a
decrease in the total production

d) Labor that is exploited by the capitalist
class

The quantum of intraregional trade among the
countries of the world is explained by

a) Heckscher Ohlin Theory

b) Comparative Cost Theory

c) Bothaandb

d) Theories based on imperfect competition

According to Marshall -Learner conditions,
Devaluation/depreciation to be effective
which of the following condition should be
satisfied? (Ex and Em are price elasticities of
export and import)

a) (Ex+Em)<l1
b) (Ex+Em)>1
c) (Bx+Em)=1
d) (Ex+Em)=0

The Tragedy of the Commons is a theory put
forth by ?

a) Garrelt-Hardin

b) Adam Smith

¢) W.C. Clark

d) Samuelson

Type I error is defined as ?

a) Reject null hypothesis when it is false
b) Reject null hypothesis when it is true
¢) Accept null hypothesis when it is true
d) Accept null hypothesis when it is false
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Box-Jenkins Method is ~ ?
a) Test of Causality

b) Method of Forecasting
c) Test of Stationarity

d) Test of Auto Correlation

In a particular state, the police department
receives an average 5 calls per hour. What is
the probability of receiving 2 calls in a
randomly selected hour?

a) 0.084
b) .073
c) .65

d) .034

Heteroscedasticity is more common in which
type of data?

a) Time-series data than cross-Sectional data
b) Cross-sectional data than time-series data
¢) Panel data

d) None of the above

Which of the following are characteristics of

a stationary process?

1) It crosses its mean value frequently

i1) It has constant mean and variance

ii1) It contains no trend component

iv) It will be stationary in first difference
form

Codes:

a) iiand iv only
b) 1iand iii

c) iandiv only
d) i,ii,iii,iv



93.

94.

95.

96.

97.

Afe T ST HI GEd el ST &, Al I8

fifgaefr 7

a) HATHdH, STFATIHA ToTieh T &l AT o
S BT

b) ety rHFE froger & i frelt o
freueg s1Ter 1 BteT foremor 7€ 7

C) S-SR AT T TR TG 8, A Tl
Tl T SARET HE

d) TUTish SITHH B AR 5 AT 6 o1y
FYTEIS Ioh TR Gl oh hllel &I

s F(K,L) =AKLP ;@ ?
a) FL=4 b K*L"!

b) Fk=Aa K" 'L°

c) @A @ 3R b &2

d) 39Uk § & 1S Tl

3R f(x)=¢€", ar f'(x) @1 2rm?
a) e

b) —e"

c) xé*

d) logx

FfcIRad 7 @ & 8 %@ el 1 (o7ufa W

IS o I 87

a) Q =100 K1/4 L3/4

b) Q =20 K®L!®

) Q=(K*+2KL +L*»"
d) 3wk § oeft udt @

Qe TR s g a2

a) 3% fdede I wfrekar 1 & srer 2
b) e U IS FHAT foig W TE &

c) 3 fdede i wrrrekar 0.5 & s 2
d) 3wk H ¥ IS T

21

93.

94.

95.

96.

97.

If an estimator is said to be consistent, it is

implied that ?

a) On average, the estimated coefficient
values will equal the true values

b) The OLS estimator is unbiased and no
other unbiased estimator has a smaller
variance

¢) The estimates will converge upon the true
values as the sample size increases

d) The coefficient estimates will be as close
to their true values as possible for small
and large samples.

If F(K,L)=A KL’ then
a) FL=A4 b K*L"!

b) Fk=AaK*''Lb

¢) Both a and b are correct

d) None of the above

If f{x)=e, then £ '(x) will be __?

a) e
b) —e”
c) xe
d) logx

Which of the following functions are
homogeneous of degree 1 (i.e. linear
homogeneous)?

a) Q=100 KA1

b) Q=20KaL"

¢) Q=(K'+2KL+L""

d) All the above

Two events are mutually exclusive if _?

a) the probability of their intersection is 1
b) they have no sample points in common
c¢) the probability of their intersection is 0.5
d) None of the above
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Which of the measure is NOT used in Box
plot?

a) Median

b) Interquartile range (IQR)

¢) Standard deviation

d) First Quartiles (Q1)

The geometric mean of the numbers 2,4,0,16
and 32 will be equal to ?

a) 3.2
b) 4.0
c) 2.0
d) 0

If x and vy, are two independent variables,
then their co-variance will be ?
a) 1

b) 0

c) 2

d) -1

The area between —3 and +3 under the
standard normal curve is __ ?

a) 1

b) .99973
c) .95

d) .6826

If the coefficient of determination is 0.12 and
one of the regression coefficients is 0.3; what
will be the value of the other regression
coefficient?

a) 04
b) 0.36
c) 0.9
d) 0.15
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The mean and variance of a standard normal
variate are respectively?

a) 0,0

b) 0,1

c) 1,0

d 1,2

Laffer curve describes the relationship

between ?

a) Tax rate and tax revenue

b) Aggregate tax and aggregate non-tax
revenue

c) Total tax burden and total payment burden

d) Total income and total expenditure

In the case of public goods market demand is
derived by vertical summation because public
goods are ?

a) Free goods

b) Unlimited in supply

¢) Non-rival in consumption

d) Owned by public sector

With respect to 'Unified Payments Interface or

UPI', consider the following statements:

1) UPI is an immediate real-time payment
developed by the National Payments
Corporation of India

i1) It was introduced in April 2016 as a pilot
project

ii1) It is regulated by RBI

Which of the above statement is/are correct?
a) 1only

b) iandiionly

¢) iiand iii only

d) iii,and iii



107.

108.

109.

110.

AT ORI hl gfsae! & forg Ae/am o1

oY a7 few 27
a) Wisauerd

b) IH

c) Uiferan

R

d) fomreft

freferiaa weiftrt & & form 3 "gfear sasm
T 2020' fere S 2

a) ffa s

b) ITRT3TTE

c) st

d) HAEHARET

STe aTedfoen fafe & sTeTehd % BT B,

q« ?

a) facelt GmM STerRd @ Bid 8 SR e

b) fereelt aeqd sTdeTsRa Tl Bidl § 3 SR

c) foreft AT STUarTRd WETT BT § I AT
TTHT STYEATRT HET BT &

d) foreeft AT STUaTTRd R BT 8 SR B

T TR & ST &

T AT Sssad AT (FITRETS) % Ha H,
famfefiaa st @ fomm ==

[. 38 AT % dgd, IRER il U aaeh aigar
&I & A9 T TAYTS{] shelaeT 9T foram Sirat

?

I1. 14.2 foretrom o Terdistt fieiet aret HisEr
meff o ure 5 feretomy & fociet & aner ot
Y T 7 foeheT @

F U T HeET H F h-w1/ T /22
a) I only

b) II only

c) amf I and II

d) I I+ & us off 7t

107.

108.

109.

110.

Which of the items/sectors share the largest
share in Government of India subsidies?

a) Food

b) Fertiliser

c) Petroleum

d) Electricity

Out of the following agencies who released
the 'India Innovation Index 2020' report?
a) NITI Ayog

b) RBI

c) SEBI

d) IRDA

When the real exchange rate is relatively low,

then

a) Foreign goods are relatively cheap and
domestic goods are relatively expensive.

b) Foreign goods are relatively cheap and
domestic goods are relatively cheap.

c) Foreign goods are relatively expensive
and domestic goods are relatively
expensive.

d) Foreign goods are relatively expensive
and domestic goods are relatively cheap.

With reference to the Pradhan Mantri Ujjwala
Yojana (PMUY), consider the following
statements:

I  Under this scheme, the LPG connection is
provided in the name of an adult woman
member of the family.

II The existing beneficiary with a 14.2 kg LPG
cylinder has an option to swap with a 5 kg
cylinder also.

Which of the statements given above is/are
correct?

a) lonly

b) II only

¢) BothIandII

d) Neither I nor II



111.

112.

113.

114.

115.

BT & H el § @ “S-wsfiad]” fored deifera
27

a) caredl #i AT Tl & fow uida

b) ARG STSAT AT forghIzT

c) JoAmfsfed wga

d) IWIE T H HIg T

s waeror 2020-2021 =t fawr /= 27
a) COVID-19 & faams @ieri

b) Sfiae 3T SATsfifernt =T
e ST FHeATor

)
)
) S T

d

aTfeles waerer 2020-21 o F7ER Wi o
TR o 3Tk YR T &l 27

a) I % ST 6

b) JI-3THR

C) o 3ATHI T

d) &fas Sk

e seie 2020-21 7 T 78 Giser MITRA
HAWTHI TE  HHerad 8?

a) shuel

b) Y&

c) T

d) FEIR

2001 3 2011 = sft=r vra ¥ ferat geehi
fg &t 1 TE?

a) 17.7

b) 16.6

c) 18.1

d)y 17.1

25

111.

112.

113.

114.

115.

The 'e-Sanjeevani', recently in the news refers
to?

a) Portal for online purchase of medicines

b) Encyclopedia of Ayurvedic medicines

¢) Telemedicine initiative

d) None of the above

What is the theme of the Economic Survey
2020-2021?

a) Fight Against COVID-19

b) Saving Lives and Livelihoods

¢) Health and Wellness

d) Boost Immunity

What kind of economic recovery is India
having as per the Economic Survey 2020-21?
a) U shaped

b) V-shaped

¢) K shaped

d) Horizontal

Union Budget 2020-21 announces a new
scheme MITRA. It is related to  ?

a) Textiles

b) Railways

c¢) MGNREGS

d) Telecommunications

How much decadal growth was recorded in
India between 2001 and 2011?

a) 17.7
b) 16.6
c) 18.1
dy17.1



116.

117.

118.

119.

120.

IRA TR ht Feferfaa & @ i @t aismn
FITT TIEIhid o e foshm o (Hidem) &
Jiarad ATt 87

a) TS HIT forer

b) S T ASHT

c) STATEATS & USSR Iredt Aaftehor o
d) ITEI-WRIT ASHT

frafafaa o @ forees g "'Sifees fafaear
g & oft fsfua foram star 22

a) COP 10
b) COP 11
c) COP 09
d) COP 12

'TSier 21" 1 a1 A 272

a) € Sy ierd o g s 20
foreprasfier 2 & sfier weh wwsiar 8

b) =g giar o 7 foehiéa ol o o= T qeh
IR AU &

c) I8 Had fae™ o Heier H HIH U il Th
?—W,Wﬁmﬁﬁmaﬁw

d) YUk H § HIS Al

forg d@ieT T g Tgaforel arRE” SfivE o
foaie sy 1 27

a) SYUESA!

b) STETHTH

c) SHATFEHY TCHIEA

d) ifaq stRmT

159 TormT AT o T seqiaRor o |
fraferfaa & & foraent 3o Stfereman B2
a) AEE!

b) = urfifEafaeht

c) gl

d) SHETReIhE Je3i=
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116.

117.

118.

119.

120.

Which of the following schemes of the

Government of India comes under the Clean

Development Mechanism (CDM) of the

Kyoto Protocol?

a) National Solar Mission

b) Bachat Lamp Yojana

¢) Jawaharlal Nehru National Urban
Renewal Mission

d) Akshay-Prakash Yojna

"Convention on Biological Diversity" is also
denoted by which among the following?

a) COP 10
b) COP 11
c) COP 09
d) COP 12

What does 'Agenda 21' mean?

a) It's an agreement between 20 developing
countries of the world on climate change.
It's a free trade agreement between 7
developed countries of the world.

It's a non-binding, voluntarily
implemented action plan of the United
Nation with regard to sustainable
development.

d) None of the above

b)

c)

Which organisation has released the report
titled "The Inequality Virus"?

a) WHO

b) IMF

¢) OXFAM International

d) NITI Ayog

In the overall devolution formula of 15t
Finance Commission. Which of the
followings has maximum weightage?

a) Population

b) Forest ecology

c) Income distance

d) Demographic performance



